| .* | F | RUPARELIA FOUNDAT | TION | |
|--------------------------------|---|---------------------------|--------------------------|----|
| Î | | PAYMENT VOUCHER | | |
| PAYMENT NO: | RF/2024/09/1464 | | Date: 30 September 20 | 24 |
| PAY M/S: | MISSIONARIES OF THE POOR | | | |
| Account: | Donation | | AMOUNT UGX. 10,000,000/- | |
| (IN WORDS) | UGX TEN MILLION UGX | ONLY | | |
| BEING: | Payment made towards Donation | for Chrismas Children Par | arty (2024) | |
| John 35 Al 2024 PREPARED BY | Last Paid on 01/11/2023 - 7,500,0 Last Paid on 09/11/2022 - 5,000,0 Last Paid on 22/12/2021 - 5,000,0 | 000 | SANCTIONED | |
| GRACE | MURSHID | TINA | BY | |
| DATE | 5. Chq Date 369 S. Zowachin Lawra : 21 10 1 2024 : V 3745964 | l Ly | Chq Prepared By : | |



| | Y | N | N/A |
|-------------------|----|------|-----|
| GENTS FOR WHT | V | | |
| GENTS FOR WHT VAT | | V | |
| VHT EXTEMPTION | | | V |
| VHT VAT EXEMPTION | | | V |
| -INV / E-RECEIPT | | | V |
| ATE TO 9 02019 | 29 | | 1. |
| IAME & SIGN: | 1 | erso | VIV |



MISSIONARIES OF THE POOR

OUR LADY OF GOOD COUNSEL MONASTERY

P.O. BOX 28813, KAMPALA UGANDA, EAST AFRICA TEL: 0752 272 112, 0755 130 040

E-MAIL: mopkampala@missionariesofthepoor.org

"Joyful Service with Christ on the Cross"



Our Mission

To spread the Good News by offering primarily the corporal works of mercy of Jesus: feeding the hungry, housing the homeless, caring for street children and the sick including AIDS and Leprosy patients, visiting prisoners; and secondarily through preaching, music, song, teaching, and sacraments.

Our desire:

To fulfill Christ's will to be present in our world by living a life of poverty, chastity, obedience, and free-service to the least of our brothers and sisters.

To:

THE MANAGEMENT OF RUPARELIA FOUNDATION CRANE HOUSE

SOLICITATION FOR SEASONAL CELEBRATIONS SUPPORT - MISSIONARIES OF THE POOR ORPHANAGE HOME

Dear Sir/Madam

Noth 10,000,000

The missionaries of the poor warmly greet you and wish to extend our heartfelt appreciations to you for your continuous support towards the cause of the poor in our midst.

Christmas season is the most awaited moment and a time for reunion and celebration of the achievement of the whole year.as, we come closer to the year our less privileged children we care for need to taste the joy of this season as other people do

We have therefore set to hold a joyous and memorable Christmas party for these children at our orphanage homes: Good Shepherd Home for 50 girls and Bethlehem home for 106 boys. We will also have a Christmas party celebration at our monastery at Mutundwe for 5000 poor children that live in the surrounding slums on the holy innocent's feast Day which is on December 28th.

On behalf of the missionaries of poor community and the less fortunate children we care for, I humbly invite your generous support and contribution to make this forthcoming season celebrations meaningful for the needy.

A detailed list of these items needed has been generated and attached. Please feel free to either help us with these items or through monetary means.

For further details please contact: Bro.Kenneth Womusi, MOP(Mission Bursar)
Mob:0770398890 or office line:0752272112, Bro.Bernard Nyangau MOP(Apostolate
Director) Mob:0752380314 Bro.Bernard Kerketta, MOP(Good shepherd Home-in-charge):0775517160, Bro Zoachim Lakra, MOP(Bethlehem Home-in-charge):0704124437
for communications; Email:mopkampalabursar@gmail.com

May the forthcoming season be fruitful and shower you with God's blessings, thank you.

In His Service,

Bro Zoachim Lakra, MOP (Bethlehem Home-in-charge) 0704124437 BETHLEHEM

Blessed is he who considers the poor, the Lord will deliver him in the day of trouble, Psalms 41.1

Father founder: Very Rev. Fr. Richard Ho Lung, MOP

9/11/23 - 7-500-000

22/12/21 - 5-000-000

BUDGET FOR CHILDREN CHRISTMAS PARTY 2024

| S/N | ITEMS | QTY | PRICE | AMOUNT |
|-----|----------------|------------------|---------|----------------|
| 1. | Rice | 8 sacks (50kg) | 200,000 | 1,600,000 |
| 2. | Beans | 8 sacks (50kg) | 225,000 | 1,800,000 |
| 3. | Wheat | 6 sacks (50kg) | 76,000 | 456,000 |
| 4. | Posho | 6 sacks (50kg) | 72,000 | 432,000 |
| 5. | Sugar | 4 sacks (50kg) | 160,000 | 640,000 |
| 6. | Blended G-nuts | 4 sacks (50kg) | 400,000 | 1,600,000 |
| 7. | Cooking Oil | 10 Jer. (20ltrs) | 175,000 | 1,750,000 |
| 8. | Soda | 215 crates | 19,500 | 4,192,500 |
| 9. | Bottled Water | 50 boxes | 25,000 | 1,250,000 |
| 10. | Biscuits | 50 boxes | 38,000 | 1,900,000 |
| 11. | Matooke | 30 bunches | 35,000 | 1,050,000 |
| 12. | Juice | 100 crates | 20,000 | 2,000,000 |
| 13. | Meat | 400 kg | 14,000 | 5,600,000 |
| 14. | Ingredients | | | 200,000 |
| 15. | Silver plates | 55,00 plates | 500 | 2,750,000 |
| 16. | Chicken | 800 kg | 15,000 | 12,000,000 |
| | Total | | | UGX 39,220,500 |

PLEASE NOTE:

We have not costed the following items though required; 5000 Christmas gifts (Children clothes, shoes, school bag, toys etc.) And for whatever else you would like to give to the community, we shall appreciate it greatly.

May the Lord bestow on you special blessings in this Christmas Season. May He bless you with peace, prosperity and good health.

A BLESSED CHRISTMAS AND A BOUNTIFUL NEW YEAR TO YOU ALL!

On the said occasion, as our most valuable patron and sponsors,

FEEL FREE

JOIN AND CELEBRATE WITH US!

